erp. LI0T T iq peysinbuijey sjdweg mey b0 | obeg Jﬁn‘_l.m\é!(g :Aq paysinbuijey sidweg mey

G 7 5491 ~ s :Aq panjaoey siduieg mey VR B 2R (@% :Aq paateday ajdweg mey

ST @ H A suwena STy, suivereq
a1l $20z/80/11 e €093sd 0 Bsp  Joon Anosspy Pliog 9-HIN 10-86.%d
a1.vL  ¥202/20/1) 1A | £093Sd 0 Bep ¢ joog Kinosapy pllog dl 20-96.%d
alivL  $202/80/11 €¢ £093sd 0 bap § |00 Ainosay pllog €-dl G0-96.vd
alive  ¥20z/80/11 1 XA £0938d 0 Bep ¢ joog Anosepy pijog ¢-dl €0-96.%d
gliv.  $202/30/)1L €21 £093sd 0 Bap § j00) Kinosayy pljog I-dl 10-96/d
a1iv.  $202/80/1L1 1A €0935d 0 Bep  joon Anosspy pijog 68100-€2-MV1 L0-S6.1d
aLiv.  $202/80/1L1 €< £093Sd 0 Bsp p 100D Ainosepy pllog SFE00-+Z-00N L0-€6.vd
qli¥.  ¥20zZ/80/11 (XA | €0938d 0 Bep ¥ 00D Anosapy pliog WNHA-INOLS-ATIO €0-26.vd
aiiv.  vz20z/90/11L 121 £€0938d O Bap ¥ |00y Ainosapy plog l¢d-d9 10-68/%d
aliv.  $20z/80/11L ¥4 £0938d 0 Bep y j00D Ainosepy pliog £€9-dd 10-88.%d
aLivs.  veoz/iro/n €a €093sd 0 Bap ¢ 00D Ainosspy plios v9-d9 10-9S.vd
aLiv.  $202/20/11 €21 1070dr 0 Bep y joo) Ainosepy pilos €-9-d 20-89.%d
g1ivl  ¥20e/L0/11 A | L07Ddr 0 Bap ¢ 00D Anosspy pljog 2-9-9 90-89.%d
gliv.  v202/L0/11 XA | L010dr 0 Bap ¢ j100g Anosapy plos ¢-g9 S0-89.%d
Lv.  ¥202/20/11 €21 L012dr 0 Bep ¢ j00g Anosapy pllog -4 ¥0-89.vd
ailiv. v20zZ/L0/LL 1 XA L01D2dr 0 6op ¢ joog Ainasapy Pilog €-¢-4d €0-89/td
aliv.  ¥202/20/11 1 XA | 1012dr 0 Bep ¥ j00n Kinosepy Pllos 2¢-g €0-89.9%d
a1iv.  $20Z/20/11 €1 L010dr 0 Bap § 100D Anosepy pllog l-€-d L0-89.vd
aLiv.  $202/10/11 e LOSVZW 0 Bap § 1009 Anosapy pliog ¢d L0-LLlbd
q1iv.  $202/20/11 e LOSYZIN 0 Bop ¢ joon Aoy plos l-d S0-LLivd

poLle ajeq 139]|0 abeso 30 SAIJEAIDS DI 3 e i 13 ajdwe
LZ:61:60 vz0eg-LL-L1 :ojeq uopsabiq :juawpedaq €2€S8L  : alisimrom Livl ¥ZLLLL

(ureyn reussyy AdoopieH) | SITMHOM

! dWeN IsiIopM



